

Iconic Event Studios 2176 Sunset Plaza Drive Los Angeles, CA 90069

10/18/2018 09:00 AM | truss sleeves

delivered

10/24/2018 09:00 AM | install

10/25/2018 09:00 AM | install

10/26/2018 09:00 AM | install

10/29/2018 09:00 AM | install

10/30/2018 09:00 AM | install

10/31/2018 09:00 AM | install

11/01/2018 09:00 AM | install

11/02/2018 09:00 AM | install

11/03/2018 09:00 AM | event

11/03/2018 06:45 PM | changeover

11/04/2018 09:00 AM | flip/partial strike

11/05/2018 09:00 AM | strike

11/06/2018 09:00 AM | strike

P0:

Shipping Address:

Crown Residence

Invoice Date:

Due Date: Upon Receipt

Salesperson: Leigh Carter

Description		Qtty	Price		Total
ENTRANCE					
	Gable End Entrance Drape - 40'Wx28'4"H hunter green velvet; pullback at entrance in white with black	1	\$1,800.00	Т	\$1,800.00
	Hedge Panel - 4'Wx12'H Wave Top with velvet green pullback at entrance 4'X12'H	15	\$150.00	Т	\$2,250.00
			Total ENTRAM	ICE	\$4,050.00
COCKTAILS					
	Full Ceiling Treatment - 36'x63' baby blue two-tone chiffon with backing; single bellies pleated and pulled taught	1	\$5,500.00	Т	\$5,500.00
	Perimeter Drape & Pullbacks - 36'x63'x16'H 25' baby blue two-tone chiffon with backing; 25' pullback at entrance in white with black	1	\$3,500.00	Т	\$3,500.00
	Traveler Drape - 12'Wx16'H white sheer with backing; double sided	2	\$500.00	T	\$1,000.00
	Traveler Rental	1	\$750.00	Т	\$750.00
	Gable End Triangle - 36'Wx28'4"H baby blue two-tone chiffon with backing; pullback at entrance in white with black	2	\$1,800.00	Т	\$3,600.00
	Perimeter Valance - 14"H baby blue dupioni	1	\$1,000.00	Т	\$1,000.00
	Truss Covers - 18'x12"x12" baby blue lycra	8	\$125.00	T	\$1,000.00
	Truss Covers - 20'x12"x12" baby blue lycra	11	\$150.00	Т	\$1,650.00

Description		Qtty	Price		Total
	Truss Covers - 23'x12"x12" baby blue lycra	9	\$165.00	Т	\$1,485.00
	Truss Covers - 28'x12"x12" baby blue lycra	2	\$200.00	Т	\$400.00
	Truss Covers - 38'x12"x12" baby blue lycra	2	\$270.00	Т	\$540.00
	Escort Card Wall - 11'H black; painting at top; top shelf 6' from ground	1	\$2,500.00	Т	\$2,500.00
	Garden Thompson Bistro Table - 42" Round white 42"Diam x 29 1/2"H - Frame Color Upon Request	2	\$125.00	Т	\$250.00
	Garden Thompson Dining Chair white frame; white cushion with black piping 23"L x 20"W x 37"H - Frame & Cushion Color Upon Request	8	\$35.00	T	\$280.00
	Garden Jones Sofa custom white cushion with black piping 70"W x 23"L x 41"H - Custom Frame & Cushion Color Upon Request	1	\$350.00	Т	\$350.00
	Sequoia Silver Tree Trunk Table - Medium 20"Diam x 17"H	1	\$75.00	T	\$75.00
	Sequoia Silver Tree Trunk Table - Large 30"W X 36"L X 17"H - May have different shapes	1	\$125.00	T	\$125.00
	Accent Pillows white with black piping	4	\$25.00	T	\$100.00
	Ottoman Pod white linen with black piping 18"RND x 17"H - Cover Color Upon Request	8	\$40.00	Т	\$320.00
	Espresso Store Front - 10'Wx16'H (cakeland); (5) pullbacks in white sheer on window & door; 3'x10' white sheer with backing pleated ceiling & 16'x12'H white sheer with backing walls; black valance	1	\$2,500.00	Т	\$2,500.00
	Espresso Exterior Decor (1) small black & white stripe awning; (1) flower box; (1) black sign bracket with sign	1	\$0.00	T	\$0.00
	Patisserie Store Front - 10'Wx16'H (candyland); (4) pullbacks in white sheer on window & door; 3'x10' white sheer with backing pleated ceiling & 16'x12'H white sheer with backing walls; black valance	1	\$2,500.00	Т	\$2,500.00
	Patisserie Exterior Decor (1) large black & white stripe awning; (1) flower box; (1) roof peak	1	\$0.00	Т	\$0.00
	Chocolatier Store Front - 10'Wx16'H (cotton candy); (6) pullbacks in white sheer on window & door; 3'x10' white sheer with backing pleated ceiling & 16'x12'H white sheer with backing walls; black valance	1	\$2,500.00	Т	\$2,500.00

Description		Qtty	Price		Total
	Chocolatier Exterior Decor (1) flower box; (1) black sign bracket with sign; (1) roof peak	1	\$0.00	T	\$0.00
	Boulangerie Store Front - 10'Wx16'H (goggles); (6) pullbacks in white sheer on window & door; 3'x10' white sheer with backing pleated ceiling & 16'x12'H white sheer with backing walls; black valance	1	\$2,500.00	Т	\$2,500.00
	Boulangerie Exterior Decor (2) small flat black & white stripe awning; (1) flower box; (1) roof peak; (1) black sign bracket with sign	1	\$0.00	Т	\$0.00
	Champagne Store Front - 10'Wx16'H (sky dive); (6) pullbacks in white sheer on window & door; 3'x10' white sheer with backing pleated ceiling & 16'x12'H white sheer with backing walls; black valance	1	\$2,500.00	Т	\$2,500.00
	Champagne Exterior Decor (1) small flat black & white stripe awning; (1) roof peak; (1) black sign bracket with sign	1	\$0.00	Т	\$0.00
	Grand Vins Store Front - 10'Wx16'H (robot); (6) pullbacks in white sheer on window & door; 3'x10' white sheer with backing pleated ceiling & 16'x12'H white sheer with backing walls; black valance	1	\$2,500.00	Т	\$2,500.00
	Grand Vins Exterior Decor (1) medium & (1) small flat black & white stripe awning; (1) flower box; (1) roof peak; (1) black sign bracket with sign	1	\$0.00	Т	\$0.00
	Bijoux Store Front - 10'Wx16'H (dance dance); 10'Wx12'H solid wall in white sheer with backing on window & door	1	\$1,800.00	Т	\$1,800.00
	Bijoux Exterior Decor (1) small black & white stripe awning; (1) roof peak	1	\$0.00	Т	\$0.00
	Parfumerie Store Front - 12'Wx16'H 12'Wx12'H solid wall in white sheer with backing on window & door	1	\$2,000.00	Т	\$2,000.00
	Parfumerie Exterior Decor (1) large flat black & white stripe awning; (1) flower box; (1) roof peak	1	\$0.00	Т	\$0.00
	Serrures pour L'Amour Store Front - 10'Wx16'H (star wars); 10'Wx12'H solid wall in white sheer with backing on window & door	1	\$1,800.00	Т	\$1,800.00
	Fleurs Store Front - 10'Wx16'H (wardrobe); 10'Wx12'H solid wall in white sheer with backing on window & door	1	\$1,800.00	Т	\$1,800.00
	Fleurs Exterior Decor (1) flower box; (1) roof peak	1	\$0.00	Т	\$0.00
	Livres Store Front - 10'Wx16'H (inter.); 10'Wx12'H solid wall in white sheer with backing on window & door	1	\$1,800.00	T	\$1,800.00
	Barback Tiffany white with black trim 96"W x 20"L x 12'H - Frame Color Upon Request	2	\$300.00	Т	\$600.00
	Black and White Hard Panel - 4'Wx12'H white with black trim	8	\$600.00	Т	\$4,800.00

escription		Qtty	Price		Total
	Black & White Roof - 12'Wx4'H	2	\$650.00	Т	\$1,300.00
	Pendant Lamp: London 1 Clear Glass white rouching 7"W x 8"H - 25 Watts	18	\$75.00	Т	\$1,350.00
	Pendant Lamp: London 2 Clear Glass white rouching 7"W x 9"H - 25 Watts	17	\$75.00	T	\$1,275.00
	Garden Lamp Post Black & White 16" X 9' 10" H	6	\$200.00	Т	\$1,200.00
	Garden Trees Black & White - Large 10'H x 10' W (base is 4'x4')	6	\$200.00	Т	\$1,200.00
	Garden Trees Black & White - Small 8'H x 10'W (Base 4'x4')	2	\$150.00	T	\$300.00
	Beer Store Front & Back	1	\$2,500.00	Т	\$2,500.00
			Total COCKTA	ILS	\$63,150.00
EREMONY					
	Full Ceiling Treatment - 32'x71' black sheer with backing; single bellies	1	\$4,500.00	Т	\$4,500.00
	Flat Ceiling - 8'x50' black sheer with backing & white sheer with backing	2	\$500.00	Т	\$1,000.00
	Perimeter Drape & Pullbacks - 32'x71'x16'H black sheer with backing first layer; white sheer with backing in front to be removed after ceremony	1	\$7,250.00	Т	\$7,250.00
	Gable End Drape - 35'Wx"26'4"H (1) white sheer with backing; (1) blackout drape; both to be cut after ceremony	2	\$2,000.00	Т	\$4,000.00
	Gable End Triangle - 35'Wx10'H black sheer with backing	1	\$450.00	Т	\$450.00
	Perimeter Valance - 14"H black dupioni	1	\$1,600.00	Т	\$1,600.00
	Truss Covers - 8'x12"x12" black lycra	3	\$55.00	Т	\$165.00
	Truss Covers - 14'x12"x12" black lycra	1	\$100.00	Т	\$100.00
	Truss Covers - 18'x12"x12" black lycra	10	\$125.00	Т	\$1,250.00
	Truss Covers - 20'x12"x12" black lycra	7	\$150.00	Т	\$1,050.00

Description		Qtty	Price		Total
	Truss Covers - 32'x12"x12" black lycra	3	\$225.00	Т	\$675.00
	Truss Covers - 34'x12"x12" black lycra	3	\$240.00	Т	\$720.00
	Truss Covers - 40'x12"x12" black lycra	4	\$280.00	Т	\$1,120.00
	Metal Chuppah with White Draping	1	\$4,250.00	Т	\$4,250.00
	Metal Structure - 4'Hx18"x18" black	4	\$750.00	Т	\$3,000.00
	Floral Plywood Panels - 38'Lx16'H	1	\$3,000.00	Т	\$3,000.00
			Total CEREMO	NY	\$34,130.00
RECEPTION T	RUSS #1				
	Full Ceiling Treatment - 40'x51' black sheer with backing; single bellies	1	\$4,500.00	Т	\$4,500.00
	Perimeter Drape & Pullbacks - 40'x51'x16'H black sheer with backing	1	\$2,250.00	Т	\$2,250.00
	Perimeter Valance - 14"H black dupioni	1	\$1,000.00	Т	\$1,000.00
	Truss Covers - 18'x12"x12" black lyra	6	\$125.00	Т	\$750.00
	Truss Covers - 25'x12"x12" black lycra	10	\$175.00	T	\$1,750.00
	Truss Covers - 42'x12"x12" black lycra	3	\$295.00	Т	\$885.00
		Total RE	CEPTION TRUSS	#1	\$11,135.00
RECEPTION T	RUSS #2				
	Full Ceiling Treatment - 50'5"x52'3" black sheer with backing; double bellies	1	\$5,000.00	Т	\$5,000.00
	Perimeter Drape & Pullbacks - 16'H black velvet	1	\$2,500.00	Т	\$2,500.00
	Gable End Stage Backdrop - 50'5"Wx27'10"H black sequin	1	\$3,500.00	T	\$3,500.00
	Perimeter Valance - 22"H black dupioni	1	\$1,750.00	Т	\$1,750.00
	Truss Covers - 24'x12"x12" black lycra	8	\$175.00	Т	\$1,400.00
	Truss Covers - 26'x12"x12"	4	\$180.00	Т	\$720.00
	Truss Covers - 22'x20.5"x20.5"	4	\$250.00	Т	\$1,000.00

Description		Qtty	Price		Total
	Truss Covers - 26'x20.5"x20.5" black lycra	4	\$300.00	Т	\$1,200.00
	Truss Covers - 30'x20.5"x20.5" black lycra	2	\$350.00	Т	\$700.00
	FOH Drape - 30'x6'H black sequin	1	\$375.00	Т	\$375.00
	Stage Skirt - 14'Lx36"H black velvet	2	\$85.00	Т	\$170.00
	Custom Stage Front - 28'Lx36"H las vegas brushed panels (2) 6' & (2) 8'	1	\$5,250.00	Т	\$5,250.00
		Total RE	CEPTION TRUSS	#2	\$23,565.00
RECEPTION FUI	RNITURE & CHANDELIERS				
	Chandelier: Moscow Rnd Large 48"W x 84"H - 85lb - 2 Amp	12	\$450.00	T	\$5,400.00
	Moscow Rectangle Medium Chandelier 8"W x 53"L x 48"H - 30lb - 1Amp	49	\$350.00	T	\$17,150.00
	Moscow Rectangle Large Chandelier 8"W x 53"L x 97"H - 50lb	50	\$450.00	T	\$22,500.00
Altri Lennicoso por transform primator ARI,	Deco Pendant Brass and Crystal Chandelier black rouching; clear lighbulbs 40"w x 65"H - 150lb - 1050 Watts	5	\$750.00	T	\$3,750.00
	High Gloss Dancefloor - 50'x50'	1	\$18,850.00	Т	\$18,850.00
	Moscow Small Floor Lamp 24"W x 48"L x 96"H - 875 Watts	10	\$350.00	T	\$3,500.00
	Floor Lamp: Moscow Large 24"W x 96"L x 96"H - 1,750 Watts	2	\$500.00	T	\$1,000.00
	Moscow Chandelier Cake Table 60"Diam x 39"H	1	\$350.00	T	\$350.00
	Las Vegas Gold Multi Mirror Brush Panel 4âN N W 1âN N 1010âN N H	6	\$500.00	T	\$3,000.00
	Custom Black Lacquer Table - 8'x40" (3) with gold washington bases & (24) with las vegas gold dupioni base; retrofit top with metal to hold	27	\$2,500.00	T	\$67,500.00

Description		Qtty	Price		Total
	Athens White & Gold Barback paint base & shelves black high gloss 6'W x 13"L x 6'H - Base Color Upon Request 8' H W/ BASE	2	\$350.00	Т	\$700.00
	Bar, Moscow 5' black 5'	1	\$400.00	Т	\$400.00
	Bar, Moscow 6' black 6'W x 30"L x 41"H	1	\$450.00	Т	\$450.00
	Total RECEPTI	ON FURNITUE	RE & CHANDELIE	RS	\$144,550.00
ADDITIONS					
	Sandra Artwork	1	\$500.00	Т	\$500.00
	Perfume Bottles	1	\$100.00	Т	\$100.00
	BBQ Drape - 4'x25'x4'H	1	\$750.00	Т	\$750.00
	Black Sheer with Backing Ceiling - 6'x40'	3	\$550.00	Т	\$1,650.00
	White Sheer with Backing Chandelier Cover - 11'x40'	2	\$700.00	Т	\$1,400.00
	Black Velvet Drape - 10'Wx16'H	6	\$400.00	Т	\$2,400.00
	Flower Boxes	4	\$125.00	Т	\$500.00
	White Poplin Ceiling - 10'Wx40'L	2	\$400.00	Т	\$800.00
	Triangle Pieces - 50'W black sheer with backing	2	\$800.00	Т	\$1,600.00
	Shield Cover Large	135	\$10.00	Т	\$1,350.00
	Shield Cover Small	40	\$5.00	Т	\$200.00
	Barback Straight Basic Metal 2' 24"W x 12"L x 6'H - Color Upon Request	1	\$85.00	Т	\$85.00
	Barback Straight Basic Metal 4' 58"W x 18"L x 6'2"H - Custom Frame Color Upon Request	2	\$100.00	Т	\$200.00
	Boston Artisan Accent Table Rnd 12"Diam x 28"H	1	\$100.00	Т	\$100.00
	Green Velvet Drape - 40'Lx16'H	1	\$850.00	Т	\$850.00
	Catering Baffle	2	\$850.00	Т	\$1,700.00
	Boston Stand Up Table - Small	6	\$125.00	Т	\$750.00

Description		Qtty	Price		Total
	Buenos Aires White Stand Up Table	16	\$125.00	Т	\$2,000.00
	Barback Cover - White Sheer with Backing	1	\$250.00	Т	\$250.00
	Los Angeles Console Table painted white 55"W x 18"L x 32"H - Custom Color Upon Request	6	\$200.00	T	\$1,200.00
	Aspen Cocktail Table With Gold Antlers 20"W x 20"L x 40"H	1	\$250.00	T	\$250.00
	Palermo Stand Up Table 20" X 38"h white legs 20"W x 20"L x 38"H - Frame Color Upon Request	4	\$150.00	Т	\$600.00
M	Palermo Stand Up Table 26" X 38"h white legs 26"W x 26"L x 38"H - Frame Color Upon Request	5	\$150.00	Т	\$750.00
	White Truss Surround for Trees	2	\$750.00	Т	\$1,500.00
	Floor Lamp: Moscow Large 24"W x 96"L x 96"H - 1,750 Watts	1	\$500.00	Т	\$500.00
	Bar, Hedge Straight 8' With Wood Top (Folding)	3	\$400.00	Т	\$1,200.00
	Custom Laser Cut Metal for Hedge Bar	3	\$2,800.00	Т	\$8,400.00
	White Sheer with Backing Ceiling - 32'x71'	1	\$4,500.00	Т	\$4,500.00
	Hard Panel - 4'Wx12'H white with black trim	4	\$600.00	Т	\$2,400.00
			Total ADDITIO	NS	\$38,485.00
Equipment					
			Total Equipm	ent	\$0.00
Services					
	lift rental	1	\$6,000.00		\$6,000.00
	parking tickets	1	\$420.00		\$420.00
	installers for wednesday 24th	10	\$450.00		\$4,500.00
	installers for thursday 25th	10	\$450.00		\$4,500.00
	installers for friday 26th	10	\$450.00		\$4,500.00
	installers for monday 29th	10	\$450.00		\$4,500.00
	installer for tuesday 30th	10	\$450.00		\$4,500.00

Description	Qtty	Price	Total
installers for wednesday 31st	10	\$450.00	\$4,500.00
installers for thursday 1st	10	\$450.00	\$4,500.00
installers for friday 2nd	12	\$450.00	\$5,400.00
installers for saturday 3rd	4	\$450.00	\$1,800.00
installers for flip saturday	12	\$450.00	\$5,400.00
installers for strike tuesday 6th	16	\$450.00	\$7,200.00
supervisor onsite for 10 days	1	\$6,500.00	\$6,500.00
supplies & packing	1	\$1,800.00	\$1,800.00
trucking	12	\$400.00	\$4,800.00
flameproofing & certs	1	\$5,000.00	\$5,000.00
Please make checks payable to Revelry, Inc.		Total Products:	\$319,065.00
	Total La	bor/Services/Misc:	\$75,820.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Wear & Tear (0%):	\$0.00
•		Packing (0%):	\$0.00
Notes	Ta	axes (tax excempt):	\$0.00
		Discounts:	(\$0.00)
		Total:	\$394,885.00
		Payments:	(\$394,885.00)
		Balance:	\$0.00